Turnier : Schweizermeisterschaft 2006 in Naters
Gruppe : Kategorie A Gruppe 2
1 2 3 4 Satze + - Diff. | Rang
Olten 1 Yverdon Luzern Herisau
+/-
1 1. Satz 25 19 1. Satz 25 17 1. Satz 25 12 1. Satz 3 75 48
Olten 1 2. Satz 20 10 2. Satz 25 19 2. Satz 25 18 2. Satz 3 70 47
6 145(- 95 | 50 1
2 1. Satz 19 25 1. Satz 25 22 1. Satz 25 21 1. Satz 2 69 68
Yverdon 2. Satz 10 20 2. Satz 24 15 2. Satz 25 14 2. Satz 2 59 49
4 128 - 117 11 2
3 1. Satz 17 : 25 1. Satz 22 1. Satz 25 17 1. Satz 1 64 67
Luzern 2. Satz 19 : 25 2. Satz 15 2. Satz 22 21 2. Satz 1 56 70
2 120 |- 137 | -17 3
4 1. Satz 12 : 25 1. Satz 21 1. Satz 0 50 75
Herisau 2. Satz 18 : 25 2. Satz 14 2. Satz 0 53 72
0 103 |- 147 | -44 4
S) 1. Satz 1. Satz 1. Satz 1. Satz 0 0
0 2. Satz 0 : 0 2. Satz 2. Satz 0 2. Satz 0 0
0 0 4




